Chem 11

7.1-7.2 Practice Questions
1. Consider the reaction:

                        Ca3(PO4)2(s) + 3H2SO4(l) → 3CaSO4(s) + 2H3PO4(l)

a. How many moles of CaSO4 can be produced if 2.55 moles of Ca3(PO4)2 are reacted?

b. What mass of H3PO4 is produced by reacting 5.00g of Ca3(PO4)2?

c. How many molecules of H2SO4 are needed to produce 2 moles of CaSO4?
2. A chemist performs the following reaction in the laboratory:

                                  6HCl(aq) + 2Al(s) → 2AlCl3(aq) + 3H2(g)

a. How many grams of solid Al would need to be reacted in order to produce 3.8 moles of AlCl3?

b. What volume of hydrogen gas at STP would be produced by reacting 15.0g of HCl?

3. Consider the reaction equation:     2H2(g) + O2(g) → 2H2O(l)

a. How many moles of water would be produced if 18.5L of H2(g) reacted at STP?
b. How many molecules of O2(g) are required to react with 12.25L of H2(g) at STP?

c. What mass of H2(g) will be used up in the reaction if 14.5g of H2O(l) are produced?

4. Consider the neutralization reaction:      H2SO4 + 2LiOH → Li2SO4 + 2H2O
            What mass of water is produced if 5.00 x 1025 molecules of the acid react?

5. Consider the combustion reaction:     C6H12O6 + 6O2 → 6CO2 + 6H2O

How many C6H12O6 molecules are needed to produce 2.5 L of CO2(g) at STP?

6. A student performs the following experiment in the laboratory:
                   2Al(s) + 3CuCl2(aq) → 3Cu(s) + 2AlCl3(aq)
a. How many atoms of copper are produced if 3.0g of Al are allowed to react?
b. What mass of CuCl2 is needed to produce 4.5 x 1015 molecules of AlCl3?

